Excel Spreadsheet Practice
Wetlands Ecology 2017
Excel spreadsheets are handy for columns of calculations, but converting mathematical formulas into something that the spreadsheet will calculate correctly can take a little practice.

Here are some tips:

Use lots of parentheses to ensure the spreadsheet knows the order of calculation in longer formulas.

For complex formulas, run the calculation once on a calculator and double-check that the computer is interpreting the formula correctly. 

Symbols:

=     tells the computer to expect a formula or reference to another cell

+    addition

·  subtraction
/     division

*    multiplication

^    raise to the power of

E-04  scientific notation for the number of decimal places before the number starts (e.g. 0.0005 = 5 E-04)

$   use this symbol in a formula to lock a row or column reference to a specific row, column, or cell   (example: =C5*$A$4; the contents of the cell will equal whatever is in C5 times whatever is in A4. BUT if you copy the formula to the next cell down or over, the formula will shift the first cell reference, from C5 to either D5 or C6, depending on which direction you moved, but the other cell reference (A4) does not shift.) This is handy if you have a whole column of numbers that needs to get multiplied by some single value somewhere else in the spreadsheet. 
Practice: (you may need the conversion chart on the Problem Set page of the class website)
1.  Calculate the volume of a box that has a length of 100 cm, width of 20 cm, and height of 5 cm. Now convert this volume to cubic meters.

2.  Calculate the volume of a cylinder that has a diameter of 20 cm and a height of 100 cm. Now covert this volume to gallons. 

3. Calculate the number of seconds in the month of February

4. Calculate the number of seconds in a year

5. Program the spreadsheet to calculate the following formula where I = 10

a = (0.675I3 - 77.1I2 + 17,920I + 492,390) x 10-6
Answers:

1. 1000 cm3 or 0.01 m3

2. 31,416 cm3 or 8.3 gal

3. February has 2,419,200 seconds

4. A standard year (not a leap year) has 31,536,000 seconds

5. a = 0.66455
